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[ PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank.
| Then mark the correct choice on your answer sheet.

I- In spite of the considerable effort --—-----, many questions still remain unanswered, thus
justifying continuous research in this field of inquiry.
1) taken 2) wasted 3) invested 4) intended

2-  The fact that "innovation" is frequently alluded to not only —-—--- the importance of the

topic but also generates much confusion, because its meaning depends strongly on the
context in which it is used.

1) highlights 2) circumvents 3) alleges 4) cites

3-  He was stopped by the police for transgressing the law; he had actually been driving faster
than the speed -—----- -—
1) calculation 2) permit 3) monitoring 4) limit

4- 1 thought he was really hurt and became worried but later I realized that he was just
------ it.
1) emerging 2) faking 3) revealing 4) deserving

5-  Irene’s argumenis in favor of his client's innocence were 50 ———==--u-- that no jury member
could resist them.
1) colloquial 2) enthusiastic 3) cogent 4) competitive

6-  Believe it or not, laughing is considered to be one of the easiest ------ --— exercises that can
cure many diseases.
1) transparent 2) benevolent 3) provocative 4) therapeutic

7-  While Alex is very spendthrift and spends money recklessly, his brother Stew is quite
------- and spends only when it is necessary,
1) thrifty 2) assiduous 3) gregarious 4) grumpy

8- Chronic illness can -——------ people in hospital. But what if they could access all the care
they needed at home in virtual wards?
1) suffer 2) necessitate 3) trap 4} involve

9-  The underlying message of the film is that love can transcend all -—--- —
1) impacts 2) barriers 3) analogies 4) interjections

10- It is no use arguing over such a trifling matter; instead we should discuss the matters of
importance and ---—--- :
1) pragmatism 2) facility 3) priority 4) jeopardy

| PART B: Cloze Passage
| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Genetically modified superhumans. Babies born with made-to-order characteristics. The
idea has been explored in everything from academic journals (11} -----e-e-- movies.
CRISPR technology could make it (12) ——=-=mmmm-,

The ability to alter human genes in a way that can be passed onto offspring,
(13) ===------- germline engineering, has long been possible. But (14) ----s-m--
genetically modify animals were so inefficient and crude (15) --=------- no sane biologist
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would dream of using them on humans. Tinkering with the genes inside people has been
limited to gene therapy, where the changes don’t get passed to the next generation.

11- 1)in 2) through 3) for 4) to
12- 1) to be real 2) as real 3) a reality 4) being a reality
13- 1) called 2) 1o be called 3) which called 4) 1s called

14- 1) until recently the methods available to
2) the until recently methods available to
3) the methods available to until recently
4) until available to recently methods
15- 1)as 2) that 3) because 4) such that

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or {4). Then mark the correct choice on your answer sheet,

PASSAGE I:

Innovations in transportation in the 1800s permitted space to be traversed more rapidly
and were crucial to the industrial expansion of the North. The great spaces that separated
producers from consumers made speed essential. especially in the movement of
perishable freight. The development of the steam-powered locomotive in the 1830s and
the rapid extension of the railways in the 1840s and 18505 provided the answer to the
need for faster transport and dramatically altered patterns of economic development
throughout the United States. In 1830 there were 32 miles of rails in the country, in 1840
there were 2.818 miles, and by 1850 there were more than 9.000 miles. The rapid
extension of rail mileage enabled the railroads significantly to reduce their costs for
shipping freight and carryving passengers, thus enabling them to price their services more
cheaply and competitively. The extension of trunk lines, into which short or local lines
fed. further tightened the east-west flow of commerce and bound the Northeast and the
old Northwest together with bands of steel.

16- What is the main theme in the passage?
1) Railroads made the transportation of perishable freight possible.
2) Railroads had a profound effect on the economic development of the United States in
the 19" century.
3) Between 1830 and 1850, over 8000 miles of railroad track were laid.
4) Railroads provided an important link between the Northwest and the Northeast.
17-  According to the passage, the extension of rail mileage in the United States —--——-———— -
1) didn’t take a very long time
2) was the direct result of economic growth in America
3) occurred long before the development of the steam-powered locomotive
4) was a threat to the economic development of the country in the mid-19" century
18- The word “them™ in line 10 refers to --——-———--- -,
1) costs 2} extensions 3) railroads 4) passengers
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19-  According to the passage, the movement of perishable goods --—————--- -

1) required faster transport

2) was regarded as unsatisfactory by American consumers

3) was not permitted in the U.S, in the first half of the 19" century

4) was the most serious problem faced by American producers in the early 19" century
20-  Which of the following can be inferred about railroad services in the U.S. in the 1800s?

1) They were not affordable.

2) They were not limited to the shipping of goods.

3) They hindered the extension of trunk lines.

4) They promoted competition among steel companies.

PASSAGE 2:

The invention of the electric telegraph gave birth to the communications industry.
Although Samuel B. Morse succeeded in making the invention useful in 1837, it was
not until 1843 that the first telegraph line of consequence was constructed. By 1860
more than 50,000 miles of lines connected people east of the Rockies. The following
vear, San Francisco was added to the network.

The national telegraph network fortified the ties between East and West and
contributed to the rapid expansion of the railroads by providing an efficient means to
monitor schedules and routes. Furthermore, the extension of the telegraph, combined
with the invention of the steam-driven rotary printing press by Richard M. Hoe in 1846,
revolutionized the world of journalism. Where the business of news gathering had been
dependent upon the mail and on hand-operated presses. the telegraph expanded the
amount of information a newspaper could supply and allowed for more timely reporting.
The establishment of the Associated Press as a central wire service in 1846 marked the
advent of a new era in journalism.

21-  What is the author’s main purpose in the passage?
1) To criticize Samuel B. Morse
2) To propose new ways to develop the communication industry
3) To show how the electric telegraph affected the communication industry
4) To compare the invention of the telegraph with the invention of the steam-driven
rotary press
22-  According to the passage, how did the telegraph enhance the business of news gathering?
1) By expanding the railroads
2) By adding San Francisco to the network
3) By allowing for more timely reporting
4) By monitoring schedules and routes for the railroads
23- The word “revolutionized™ in paragraph 2 is closest in meaning to ------——------ :
1) revolved 2) gathered 3) destroyed 4) transformed
24-  According to the passage, which of the following is NOT true about the growth of the
communications industry?
1) Morse invented the telegraph in 1837,
2) The telegraph helped connect the entire nation.
3) People could use the telegraph in San Francisco in 1861,
4) The telegraph lead to the invention of the rotary printing press.
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25- It can be inferred from the passage that —-—--——- 3
1) the extension of the telegraph was more important than its invention
2) Morse’s invention did not immediately achieve its full potential
3) Samuel Morse did not make a significant contribution to the communication industry
4) journalists have the Associated Press to thank for the birth of the communication
industry

PASSAGE 3:

In economics and finance. nothing can be measured with the precision possible in the
physical sciences. However, approximate measurement is often sufficient as long as the
method of measurement remains the same over time. It is important for anyone who is
considering buying stock in a company to know that the usual methods of accounting
have been followed.

Unfortunately, even when auditors certify that a company has prepared its financial
reports properly. they cannot always be certain that all figures are 100 percent accurate.
Because a company's books are not open to public scrutiny, it is possible for a company
to distort its financial status. Accounting scandals occur because of dishonesty.
questionable accounting practices, or outright criminal behavior. Although the
accounting profession and government agencies have attempted to reform some of these
abuses, the principle of caveat emptor—Iet the buver beware—must still guide one's
financial transactions.

26- What does the passage mainly discuss?
1) Imprecision of measurement in finance and economics
2) A comparison between physical sciences and economics
3) Methods of preparing financial reports
4) Examples ol unethical accounting practices
27-  Why does the author mention the physical sciences in paragraph 1?
1) To paint out that financial measurements are not always precise
2) To compare the physical sciences unfavorably with other sciences
3) To argue that economics and finance should be considered physical sciences
4) To explain why methods of measurement are important in different fields
28-  The word “they” in paragraph 2 refers to -—————-- -,
1) figures 2) auditors 3) reports 4) companies
29-  The author mentions the principle of caveat emptor in paragraph 2 in order to ----———-- .
1) argue that buying stock is the best way to make money fast
2) criticize inadequate efforts to stop bad accounting practices
3) warn potential buyers of the possibility of accounting abuses
4) recommend that the government review all stock purchases
30- The word “distort” in paragraph 2 is closest in meaning to ---——--- ——
1) discover 2) boost 3) label 4) change
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